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Bayes Estimate of Reliability of Exponential Units
under Constant Stress Accelerating Life Testing

Wu  Shaumin
Abstract

This paper deals with Bayes estimate of reliability of exponential units under
constant stress accelerating life testing, The method can bs applied to leave out
such an assumption, there exists a known functional relation between ths para-
meter of failure distribution and the applied siress; the expression of reliability
of exponxentiﬂ units under normal siress can be given by use of merely the data
tested under different stress level, An example is given finally,
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